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R

Quick Simplify the rational expression. Assume that variable x has no value which results in the
Check denominator with a value of zero.
7.1.19
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5%x2—16x+3
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7.1.31

Find the value of the variable for which the rational expression is undefined.

6p
pt5

p= —5 (Useacomma to separate answers as needed.)

Page 1



7.1.51

Simplify the expression.
x%—81
x?—18x+ 81

Select the correct choice below and fill in any answer boxes in your choice.

X2_81 _ x+9 S 1
x2—18x+81 x—9 (Simplify your answer.)

‘.;g‘A_

.".8. The expression cannot be simplified.
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7.1.65 Simplify the rational expression. Assume that variable x has no value which results in the
denominator with a value of zero.

@ x3+7x2+x+7
@ x2+8x+7

B ex+7 x2+1

x2+8x+7 x+1
(Use integers or fractions for any numbers in the expression.)
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7.1.67 Simplify the rational expression. Assume that no variable has a value which results in a
denominator with a value of zero.

9—12
(t—3)*
9 —1t2

‘
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7.1.71 Simplify the rational expression. Assume that no variable has a value which results in a
denominator with a value of zero.

18—7x—x2
x%-81
18—7x—x2_ x—2

x2-81 Xx—9

&?ﬂe che.

2+ 5] 0=
YOU ANSWERED: — ——~ %+ neg = —227X
x+9 XK 4+9q
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